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1. I5d =‘ kL —_—_——IW
<y 3 then for what value of A, A% =(Q?
1 ¥ — I
=N a b ka kb ke
2. IS »y 2 kx ;
5k - then 'Ib Az ig 1) A
3. LetA and B b > ; AN A0
e
following statement i S \etrIC, matrices of smail ord -
ent is not trye> “I}i"- Then which one of the
+ B is a symmetric matrix

2
) AB is a symmetric matrix 3) AB = (BA)™ 4) a7
4. The value of ¢/ 0, T fo N i
5 r which the vecto—s E:gi“mhmmg{'and b= i-3 20
j = i—f3 j+ 20

are perpendicular, is equal to 1) = PO =
e " k.
> Doty bk b=t infshoai : . E 3-
> = ;JH b =2 +;;—;k,c=i-—j+4k and 4. (b X ¢)then x Is equal to
: 3) 26 4
6. Ir i bz
lj.: ri 1 fquar:]m;mx, then which of the following is not symmetric?
T :
3) ATA 4) A-AT
: If
1 the points (x, =23 (5, 2), (8,8) ar collinear, then x is equal to
)-3 2) 3)1 4)3
8. If ;. 245 + 22k Is a unit vector, then the value of 2 is 2
1 ! 1
gy ! 1 1 1
) 3 2) 3 33 1 5
e f6 3 2
9. IfA= 2 | 'S 2 singular matrix, then the value of a,
1) 6 2)3 N1 4) 2

10. If zand p are two vectors such that H=4.[5[=3 and a.b= 6, find the angle between

 and j B F S gy a9 3
II  Answer any 3 questions. Q. no.'15 is compulsory.
11. Determine 3B +4 C - D if B, C and D are given by
B_[z 3 EJ'C_[-I -2 JJE{n 4 -|J
L. =h 5 =1 0 2 5 6 -
12. If PO+0Q = 0o +OR ~Prove that the points P, Q, R are collinear. K
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14. Find the value i for which the vectors a and j, are perpendicular, where E=2i+ﬂ.} +k
and pj-27 +3k .
15. 1If (k, 2), (2, 4) and (3, 2) are vertices of the triangle of area 4 square units then

determine the value of k.
III Answer any 3 questions. Q. No. 20 is compuisory, 3IX3=9

16. Find the area of the parallelogram whose adjacent sides are

a=3i+j +4kand h=i-7 +k.
17. If two rows (columns) of a matrix are identical, then prove that, its determinant is zero.

pr—r

a a-bc — )
¥ d o £
b & —cal=0 e

1 ¢ c*-ab

18. Prove that

cos® -sing cosf sinf
A =3 A= and B =
19. Verify that [AB| = |A| [B] If [smﬂ “a} 8 [—sinﬂ msﬂ]'

20. For any vector ; Prove that Furf, +|axjr +|axir =1H1

IV Answer all the questions. 4X5=20
i~ 3 5
A=|-6 B 3 : :
21. a) Express the matrix %o as the sum of a symmetric and a skew 5
Lot i

symmetric matrix. (OR) b) Prove that the medians of a triangle are concurrent.
a) If ABCD Is a quadrilateral and E and F are the midpoints of AC and BD respectively,

22.
then prove that 4B + AD +CB +CD = 4EF .(OR) '
f+2 1 | e 3

b) Prove that | | 1+0 ="b‘(1+3+3+?]~ v 3

I ] 1%

|b+r.' a-c a-b :
b-¢ c+a b-al|=8abe (OR)
rc—b c—a a+h

its whose position vectors 47+5j+ k, - j -k, 3i+9j+4kand

-

23. a) Show that
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